Rechnen mit Potenzen
Ubungen

69 +6° =69+6¢6
81 +5" =

13 +3° =
22+6° =

85 +2° =
38 +7° =

7

-

-
+20- -
‘o - -

+ 48 =

+ 8 =

+ 52 =
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Rechnen mit Potenzen
Lésungen

Berechne ausflhrlich. Beachte die Rechenreihenfolge!

69+6° =69+66 =105 )
81 +5 4 = 81+5¢5¢5¢5 =706 %
£
3% + 20 =3¢3:3+20 =47 :
77+ 9 =77+9 =58 ‘
89+4° =89+4+4 =105 @
2+1° =24141411 = .
£
6° + 66 = 626°6°6+66 =1.362 :
4 ‘4 39 =4e4e44+39 =295 k
13"'32 =13+33 =22
22+6° =22+66 =58 (E:“
€
7° + 38 =7+7+7+38 =381 :
4° + 48 = 40404448 =112 ‘
85+2 ? = 85+2¢2 =89
38+ 7" =38+7e7eTe7 =2.439 (E:“
€
12 + 8 =11+8 =9 §
7° + 52 =77+52 =101
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